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MD

1300

1400

1500

1600

1700

#8 MD(1650.00) Inc(0.3) Azm(299.1) TVD(1649.96)

VS(4.85) NS(-4.81) EW(1.23)

#7 MD(1558.00) Inc(0.3) Azm(283.0) TVD(1557.96)

VS(5.04) NS(-4.98) EW(1.67)

#6 MD(1465.00) Inc(0.3) Azm(299.1) TVD(1464.97)

VS(5.23) NS(-5.15) EW(2.12)

#5 MD(1372.00) Inc(0.2) Azm(297.9) TVD(1371.97)

VS(5.43) NS(-5.35) EW(2.48)

#4 MD(1279.00) Inc(0.2) Azm(305.1) TVD(1278.97)

VS(5.61) NS(-5.51) EW(2.76)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

1800

1900

2000

2100

2200

#13 MD(2123.00) Inc(6.5) Azm(1.9) TVD(2122.16)

VS(-16.49) NS(16.61) EW(2.98)

#12 MD(2028.00) Inc(4.8) Azm(8.9) TVD(2027.62)

VS(-7.23) NS(7.31) EW(2.19)

#11 MD(1933.00) Inc(3.3) Azm(353.3) TVD(1932.86)

VS(-0.60) NS(0.67) EW(1.89)

#10 MD(1838.00) Inc(1.7) Azm(30.7) TVD(1837.95)

VS(3.31) NS(-3.26) EW(1.49)

#9 MD(1743.00) Inc(0.2) Azm(311.1) TVD(1742.96)

VS(4.61) NS(-4.58) EW(0.89)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

2300

2400

2500

2600

2700

#19 MD(2692.00) Inc(9.1) Azm(354.1) TVD(2684.80)

VS(-100.61) NS(100.64) EW(-1.12)

#18 MD(2597.00) Inc(9.4) Azm(353.6) TVD(2591.04)

VS(-85.38) NS(85.45) EW(0.52)

#17 MD(2502.00) Inc(9.6) Azm(353.4) TVD(2497.34)

VS(-69.74) NS(69.87) EW(2.29)

#16 MD(2407.00) Inc(9.1) Azm(359.9) TVD(2403.60)

VS(-54.34) NS(54.49) EW(3.22)

#15 MD(2312.00) Inc(7.9) Azm(359.4) TVD(2309.64)

VS(-40.30) NS(40.45) EW(3.30)

#14 MD(2218.00) Inc(7.3) Azm(1.0) TVD(2216.47)

VS(-27.88) NS(28.02) EW(3.26)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

2800

2900

3000

3100

3200

#24 MD(3166.00) Inc(8.8) Azm(347.6) TVD(3153.26)

VS(-172.22) NS(171.86) EW(-12.94)

#23 MD(3071.00) Inc(8.6) Azm(350.5) TVD(3059.35)

VS(-158.03) NS(157.76) EW(-10.21)

#22 MD(2977.00) Inc(8.6) Azm(347.6) TVD(2966.41)

VS(-144.14) NS(143.96) EW(-7.54)

#21 MD(2882.00) Inc(9.1) Azm(349.8) TVD(2872.54)

VS(-129.72) NS(129.63) EW(-4.68)

#20 MD(2787.00) Inc(8.6) Azm(354.1) TVD(2778.67)

VS(-115.19) NS(115.17) EW(-2.62)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

3300

3400

3500

3600

3700

#29 MD(3641.00) Inc(6.0) Azm(359.6) TVD(3623.20)

VS(-240.91) NS(240.41) EW(-18.09)

#28 MD(3546.00) Inc(8.1) Azm(356.3) TVD(3528.93)

VS(-229.25) NS(228.76) EW(-17.62)

#27 MD(3451.00) Inc(8.9) Azm(358.9) TVD(3434.97)

VS(-215.22) NS(214.74) EW(-17.05)

#26 MD(3356.00) Inc(8.4) Azm(358.5) TVD(3341.05)

VS(-200.93) NS(200.45) EW(-16.73)

#25 MD(3261.00) Inc(8.9) Azm(352.0) TVD(3247.13)

VS(-186.68) NS(186.24) EW(-15.52)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

3800

3900

4000

4100

4200

#34 MD(4115.00) Inc(1.4) Azm(199.3) TVD(4096.63)

VS(-249.87) NS(249.35) EW(-18.86)

#33 MD(4020.00) Inc(1.9) Azm(198.1) TVD(4001.67)

VS(-252.43) NS(251.94) EW(-17.99)

#32 MD(3925.00) Inc(1.1) Azm(215.8) TVD(3906.71)

VS(-254.63) NS(254.18) EW(-16.97)

#31 MD(3830.00) Inc(2.1) Azm(16.8) TVD(3811.72)

VS(-253.70) NS(253.25) EW(-16.94)

#30 MD(3736.00) Inc(3.8) Azm(6.3) TVD(3717.85)

VS(-248.99) NS(248.50) EW(-17.78)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

4300

4400

4500

4600

4700

#40 MD(4684.00) Inc(0.8) Azm(91.7) TVD(4665.42)

VS(-237.45) NS(236.81) EW(-21.94)

#39 MD(4589.00) Inc(0.6) Azm(148.7) TVD(4570.42)

VS(-237.93) NS(237.26) EW(-22.86)

#38 MD(4495.00) Inc(1.3) Azm(192.1) TVD(4476.44)

VS(-239.40) NS(238.72) EW(-22.89)

#37 MD(4400.00) Inc(2.6) Azm(228.1) TVD(4381.49)

VS(-241.82) NS(241.21) EW(-21.06)

#36 MD(4305.00) Inc(1.9) Azm(195.9) TVD(4286.56)

VS(-244.70) NS(244.17) EW(-19.02)

#35 MD(4210.00) Inc(1.6) Azm(165.7) TVD(4191.60)

VS(-247.49) NS(246.97) EW(-18.92)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

4800

4900

5000

5100

5200

#45 MD(5156.00) Inc(23.0) Azm(179.8) TVD(5129.50)

VS(-175.75) NS(175.39) EW(-13.24)

#44 MD(5061.00) Inc(15.3) Azm(177.5) TVD(5039.82)

VS(-206.88) NS(206.52) EW(-13.86)

#43 MD(4966.00) Inc(8.6) Azm(169.4) TVD(4946.92)

VS(-226.47) NS(226.04) EW(-15.71)

#42 MD(4871.00) Inc(1.9) Azm(125.3) TVD(4852.35)

VS(-234.46) NS(233.95) EW(-18.31)

#41 MD(4779.00) Inc(1.6) Azm(138.8) TVD(4760.40)

VS(-236.38) NS(235.79) EW(-20.40)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

5300

5400

5500

5600

5700

#50 MD(5630.00) Inc(56.3) Azm(176.4) TVD(5475.41)

VS(138.21) NS(-138.41) EW(-2.84)

#49 MD(5535.00) Inc(51.4) Azm(177.8) TVD(5419.38)

VS(61.54) NS(-61.83) EW(-6.75)

#48 MD(5441.00) Inc(48.0) Azm(178.0) TVD(5358.59)

VS(-10.14) NS(9.81) EW(-9.38)

#47 MD(5346.00) Inc(40.4) Azm(179.4) TVD(5290.53)

VS(-76.32) NS(75.97) EW(-10.94)

#46 MD(5251.00) Inc(31.7) Azm(177.8) TVD(5213.80)

VS(-132.16) NS(131.80) EW(-12.22)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

5800

5900

6000

6100

6200

#57 MD(6159.00) Inc(84.9) Azm(179.6) TVD(5656.75)

VS(625.54) NS(-625.35) EW(16.59)

#56 MD(6066.00) Inc(82.5) Azm(179.2) TVD(5646.54)

VS(533.14) NS(-532.92) EW(15.62)

#55 MD(5988.00) Inc(79.1) Azm(177.7) TVD(5634.08)

VS(456.16) NS(-455.97) EW(13.54)

#54 MD(5950.00) Inc(75.5) Azm(176.8) TVD(5625.72)

VS(419.10) NS(-418.95) EW(11.77)

#53 MD(5915.00) Inc(70.6) Azm(177.0) TVD(5615.52)

VS(385.63) NS(-385.53) EW(9.96)

#52 MD(5820.00) Inc(59.6) Azm(177.1) TVD(5575.58)

VS(299.61) NS(-299.60) EW(5.52)

#51 MD(5725.00) Inc(58.4) Azm(177.3) TVD(5526.66)

VS(218.18) NS(-218.27) EW(1.55)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

6300

6400

6500

6600

6700

#62 MD(6629.00) Inc(92.9) Azm(178.9) TVD(5638.17)

VS(1094.89) NS(-1094.36) EW(34.38)

#61 MD(6534.00) Inc(93.2) Azm(177.8) TVD(5643.23)

VS(1000.03) NS(-999.54) EW(31.65)

#60 MD(6439.00) Inc(92.4) Azm(176.8) TVD(5647.87)

VS(905.15) NS(-904.76) EW(27.18)

#59 MD(6345.00) Inc(92.0) Azm(177.1) TVD(5651.48)

VS(811.23) NS(-810.96) EW(22.18)

#58 MD(6252.00) Inc(94.8) Azm(178.2) TVD(5656.99)

VS(718.41) NS(-718.21) EW(18.37)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

6800

6900

7000

7100

7200

#68 MD(7198.00) Inc(91.1) Azm(177.8) TVD(5638.00)

VS(1663.76) NS(-1662.74) EW(58.12)

#67 MD(7103.00) Inc(90.5) Azm(177.1) TVD(5639.32)

VS(1568.77) NS(-1567.85) EW(53.89)

#66 MD(7008.00) Inc(89.4) Azm(178.7) TVD(5639.24)

VS(1473.78) NS(-1472.92) EW(50.41)

#65 MD(6913.00) Inc(90.4) Azm(178.5) TVD(5639.08)

VS(1378.78) NS(-1377.95) EW(48.09)

#64 MD(6819.00) Inc(88.5) Azm(176.6) TVD(5638.17)

VS(1284.80) NS(-1284.05) EW(44.07)

#63 MD(6724.00) Inc(89.3) Azm(176.4) TVD(5636.35)

VS(1189.85) NS(-1189.24) EW(38.27)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

7300

7400

7500

7600

7700

#73 MD(7672.00) Inc(91.5) Azm(178.0) TVD(5631.21)

VS(2137.69) NS(-2136.35) EW(75.65)

#72 MD(7577.00) Inc(91.6) Azm(178.0) TVD(5633.78)

VS(2042.73) NS(-2041.45) EW(72.33)

#71 MD(7482.00) Inc(89.9) Azm(177.8) TVD(5635.02)

VS(1947.74) NS(-1946.52) EW(68.85)

#70 MD(7388.00) Inc(91.2) Azm(177.7) TVD(5635.93)

VS(1853.74) NS(-1852.60) EW(65.16)

#69 MD(7293.00) Inc(90.1) Azm(178.0) TVD(5637.00)

VS(1758.75) NS(-1757.67) EW(61.60)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

7800

7900

8000

8100

8200

#78 MD(8146.00) Inc(90.0) Azm(177.0) TVD(5626.65)

VS(2611.65) NS(-2609.93) EW(94.83)

#77 MD(8052.00) Inc(90.2) Azm(177.7) TVD(5626.82)

VS(2517.66) NS(-2516.03) EW(90.48)

#76 MD(7957.00) Inc(90.4) Azm(177.7) TVD(5627.31)

VS(2422.66) NS(-2421.11) EW(86.67)

#75 MD(7862.00) Inc(90.6) Azm(177.7) TVD(5628.14)

VS(2327.66) NS(-2326.19) EW(82.86)

#74 MD(7767.00) Inc(90.8) Azm(177.8) TVD(5629.30)

VS(2232.67) NS(-2231.27) EW(79.13)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

8300

8400

8500

8600

8700

#83 MD(8621.00) Inc(88.5) Azm(176.4) TVD(5634.36)

VS(3086.41) NS(-3083.96) EW(123.49)

#82 MD(8526.00) Inc(88.0) Azm(175.6) TVD(5631.46)

VS(2991.51) NS(-2989.24) EW(116.86)

#81 MD(8431.00) Inc(89.1) Azm(176.8) TVD(5629.06)

VS(2896.59) NS(-2894.48) EW(110.57)

#80 MD(8336.00) Inc(89.3) Azm(176.6) TVD(5627.73)

VS(2801.62) NS(-2799.65) EW(105.10)

#79 MD(8241.00) Inc(89.7) Azm(177.0) TVD(5626.90)

VS(2706.64) NS(-2704.80) EW(99.80)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

8800

8900

9000

9100

9200

#89 MD(9190.00) Inc(91.0) Azm(176.1) TVD(5625.17)

VS(3655.16) NS(-3651.95) EW(154.66)

#88 MD(9095.00) Inc(91.2) Azm(177.0) TVD(5627.00)

VS(3560.21) NS(-3557.14) EW(148.95)

#87 MD(9000.00) Inc(91.5) Azm(177.0) TVD(5629.24)

VS(3465.24) NS(-3462.30) EW(143.98)

#86 MD(8905.00) Inc(91.5) Azm(177.1) TVD(5631.72)

VS(3370.29) NS(-3367.45) EW(139.09)

#85 MD(8810.00) Inc(92.0) Azm(177.0) TVD(5634.62)

VS(3275.34) NS(-3272.63) EW(134.20)

#84 MD(8716.00) Inc(89.6) Azm(176.8) TVD(5635.94)

VS(3181.37) NS(-3178.78) EW(129.12)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



MD

9300

9400

9500

9600

9700

#94 MD(9664.00) Inc(89.5) Azm(176.6) TVD(5625.42)

VS(4129.09) NS(-4125.30) EW(179.22)

#93 MD(9569.00) Inc(89.8) Azm(177.3) TVD(5624.84)

VS(4034.11) NS(-4030.44) EW(174.17)

#92 MD(9474.00) Inc(90.0) Azm(177.1) TVD(5624.68)

VS(3939.11) NS(-3935.55) EW(169.53)

#91 MD(9379.00) Inc(89.9) Azm(176.6) TVD(5624.59)

VS(3844.13) NS(-3840.69) EW(164.31)

#90 MD(9285.00) Inc(89.9) Azm(177.8) TVD(5624.43)

VS(3750.14) NS(-3746.81) EW(159.72)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots



Gamma
API0.0 250.0

250.0 500.0

ROP
00.0 500.0

500.0 1000.0

VS
ft0.0 5000.0

5000.0 10000.0

MD

9800

#96 MD(9791.00) Inc(88.9) Azm(175.4) TVD(5627.36)

VS(4256.00) NS(-4251.97) EW(188.09)

#95 MD(9759.00) Inc(88.9) Azm(175.7) TVD(5626.75)

VS(4224.03) NS(-4220.07) EW(185.60)

9850.0:Bit Projection @9861’ INC: 88.9 AZM: 175.4 
TVD: 5628.71 VS: 4325.92

4200.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4150.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots

4050.0:From 4028 to 4276 the driller input the wrong 
bit change and it projected the plotting to 40800’ and 
lost ROP plots


